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Q1. U AR U 3 Tu & fIT 10% Ft gv A 3ifola awrgfs =< a9 ®9 &t 3 af A
10% Ufdad $1 & | 300 TUY HT JIURUT TSl UTed Bl 872

(a) 331 &1

(b) 310 T

(c) 330 ¥4

(d) 333 98

(e) 341 &Y
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Q2. &I UTeDI - FHTH T P Thgfes TS & 3R JTURUT AT W IYR ot 8. I 2
99 91¢, TP & gRT fear a1 sutet 220 TP 3R 37 gRT f&uT a1 st 200 394 8, @
398 & yd® 3 fear mar gayA feae ur

(a) 450 3T

(b) 500 ¥TT

(c) 550 ¥TY

(d) 650 TT

(e) 600 3T
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Q3. 38T A 10% Ui ad # IR A Tergfs =T Sifvfa $1 & o 9« A vep Aifda
3T ST Y. FR SR g ad | Sifola sare & 9 &7 3iav 1,100 $UA §. 34 A
fora=it iy 5T 99 82

(a) 100000 3T

(b) 110000 3T

(c) ST T

(d) 105000 3T

(e) 115000 3T
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Q4. T 80000 U B MR TR 3 a6t # tfela Tehgfis sarel a FIMA afe =uer v
Ugd a9 & g 59, AN 99 & 1T 4% SR fieR a9 & g 5% &2

(a) 17128 =TT

(b) 11728 =04

(c) 11278 =T

(d) 11738 =04

(e) 17138 =04
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Q5. Tfe ATYRUT =TS 10.5% AT 3R Tshgfes AT 10% a1ffe 8, 9 9 e R |
1000 T &} IR YR 3 qul A Afofa sarer & S $1 iR 1 PIfoe?

(a) 15 304

(b) 12 3T

(c) 16 TTY

d) 11 398

()13 3T
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Q6. T fAf3a TR R 8 AEA A 4% ufd adf &Y v & 3rfvfa IrurRor sur JH= AR
WR 15 HEIH H 50 ufaad &1 gz T sifofd ArerRor sarel § 129 ¥ ud &4 8. A 719
(a) 2580 ®UY

(b) 2400 =TY

(C) 2529 =Y

(d) 3600 =T

(e) 3500 U
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Q7. TH 1440 TUA B} AR ) 37 UHR | o9 U & IUR fear sirar g 6 ved vm
TR 2% TR 3 74  3ifold sure, O T WR 4 96 # 3% R 3ifola saret 3w Fae umr
TR 5 ¥ & AT 49 R ufefa ool RTaR 2. ) o 9t Uiy ok gad S uin &
I P 3faR J1d Bifo1E?

(a) 400 &1

(b) 560 TTY

(c) 460 =TT



(d) 200 9

(e) 250 &Y
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Q8. afe T A YRV TS & W 15 99 A 3+t SR &Y el 8, a1 98 fove 9w
H 3U-t 313 T gRft?

(a) 60 TN

(b) 48 T¥

(c) 54 %

(d) 45 TY

(e) 30 9¥
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Q. Tw fAfda A1 R 4 uferzra ufa af &Y a3 & 2 o o 3ifofa awrgfs =1 2,448
FUY . A IR YR JHTH o1 &2 F 2 quf # 3rfofa qremor saret faar ghme
(a) 2,500 TTY

(b) 2,400 =TT

(c) 2,360 =TI

(d) 2,250 &I

(e) 2,450 TTY
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Q10.9fe Ts fAfda T W 2 3 & forw 10% (@R == & forw) 8fR 15% (Thafs
TS & 1Y) B ¥ | AYRYT 1T 3R Tehgfes TS & d1 BT ek 980 T B.

e Bt R F1d Pifore?

(2)8000 ¥TY

(b)7500 T

(C)9500 TTY

(d)8500 3T

(e) 9000 ¥TY
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Directions (11-15): fRafafEa T g guwisii # ugaras g (2) & TIE w® |1
I ATHET A1eE?

Q11.4,8,7,42,91, 212

(a) 16

(b) 34

(c) 25

(d) 22

(e)17
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Q12.5616,1872,468,156,7,13
(a) 39

(b) 52

(c) 26

(d) 65

(e) 78
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Q13.119, 176, 260,371, 509, ?
(a) 674

(b) 628

(c) 672

(d) 703

(e) 670
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Q14.4, 10,40, 190, 940, ?

(a) 4690

(b) 2930

(c) 5140

(d) 3680

(e) 4960
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Q15.123, 129, 147, 185, 251, ?
(a) 365



(b) 323

(c) 353

(d) 335

(e) 533
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Solutions

S1. Ans.(a)
Letsum =RsP

__ 300x100

3x10
=1000

~Cl = 1000 [(1 + %)3 B 1]

331
= 1000X ——
1000

=Rs 331
Sol.

S2. Ans.(b)

C.IL—S8. L= ——

1002

(for two years)

=20 (@)

= PR = 10,000 (i)
From (i) and (ii)
R=20% &P =500

Sol.
S3. Ans.(a)
100 > 110 > 121 > 133.10
—— T 7
11 12.10
|
2nd 3rd
ATQ,

(12.1-11)% =1100

1100
A 100% = —— 100 = Rs 100000
Sol. 1.1

S4. Ans.(b)



Amount = 80000 X — x 222« 1% — 91728
100 100 100

Compound interest = 91728 - 80000
Sol. = Rs. 11728

S5. Ans.(c)

CI after 3 1000 (l-l— 19 )3 1
after 3 years = — -
Y 100

(1331 —1000) _

= 1000 = 331
1000
1000 = 3 x 10.5
and, SI = = 315
100
Sol ~ Required difference =331 - 315 =16
ol.
S6. Ans.(d)
Letsum =Rs. P
Px5x15 Px4x8
- =129
1200 1200
= P =FRs. 3600
Sol.
S7. Ans.(b)
Let three parts are x, v and z respectively.
~x+y+z=1440 (i)
X233 yHIxd ZxAR5
ATQ, = =
100 100 100
= 3x =6y =10z
1 1 1
~Ratioofx, yandz=-1+-:1—
32 & 10

=10:5:3
~ Required deference = % #1440
Sol, = 560

S8. Ans.(d)
Since in 15 years money becomes 2 times.
~ie 2t 15 years
~8=2% 15 X 3 = 45 years

Sol.

S9. Ans.(b)



c[-P(1+m) P

— [ R t
2448 = P (1 +) 1]

2448 = P (1+i)2—1
I | 100

2448 = p |28 _ 1]

l625
2448 = p |2~
L5625
- 2448x625

= 30000

- 30000x4x2 — Rs. 2400
100

|
Sol.

S10. Ans.(a)

Let principal amount=Rs P

5)2 10 % 2

1
14—
( 100 100

~ P l = 980

49
=P (—) =980 = P = Rs. 8000
400
Sol.

S11. Ans.(e)
Pattern is +2%, +3%, +5%, +7%, +11°

7=8+3=17
Sol.

S12. Ans.(a)
Patternis = 3,+ 4+ 3,+ 4, ......
Sol.

S13. Ans.(a)
119 176 260 371 509 [674]

[ | I | N | N | M

57 B84 111 l].fnlﬂ 165

I | I |
7

27 2

27 27
Sol.

S14. Ans.(a)
—'Il 1|? =|l[|} IILJIIIII 9|4|[]' 4690
+6 +30 +150 +750 +3750
| || 1! | | |
X3 x5 x5 X5

Sol.



S15. Ans.(c)

Patterns is
123 120 147 185 251 353
I || | I I |
46 T $18 +38 66 4102
| | I | I |
+12 420 +28 +36
l |l | | |
8 +8 +8

Sol.



